

## Introduction :

An equation involving independent and dependent variables and the derivatives of the dependent variables is called a **differential equation**. There are two kinds of differential equation:

Ordinary Differential Equation : If the dependent variables depend on one independent variable x, then the differential equation is said to be ordinary.

br example 
$$\frac{dy}{dx} + \frac{dz}{dx} = y + z$$
,  
 $\frac{dy}{dx} + xy = \sin x$ ,  $\frac{d^3y}{dx^3} + 2\frac{dy}{dx} + y = e^x$ ,

$$\frac{d^2 y}{dx^2} = \left\{ 1 + \left(\frac{dy}{dx}\right)^2 \right\}^{3/2}, \quad y = x \frac{dy}{dx} + k \sqrt{\left\{ 1 + \left(\frac{dy}{dx}\right)^2 \right\}^2}$$

~2

Partial differential equation : If the dependent variables depend on two or more independent O variables, then it is known as partial differential equation

ple 
$$y^2 \frac{\partial z}{\partial x} + y \frac{\partial^2 z}{\partial y} = ax, \ \frac{\partial^2 z}{\partial x^2} + \frac{\partial^2 z}{\partial y^2} = 0$$

# Order and Degree of a Differential Equation:

Order : Order is the highest differential appearing in a differential equation.

It is determined by the degree of the highest order derivative present in it after the differential equation is cleared of radicals and fractions so far as the derivatives are concerned.

(ii)

(iv)

$$f_{1}(x, y)\left[\frac{d^{m}y}{dx^{m}}\right]^{n_{1}} + f_{2}(x, y)\left[\frac{d^{m-1}y}{dx^{m-1}}\right]^{n_{2}} + \dots f_{k}(x, y)\left[\frac{dy}{dx}\right]^{n_{k}} =$$

The above differential equation has the order m and degree n,

Find the order & degree of following differential equations.

-xy'' + y = 0

d²y dy dx dx<sup>2</sup>

 $\left(\frac{d^2y}{dx^2}\right)^{-1} = y + \left(\frac{dy}{dx}\right)^{-1}$ order = 2, degree = 4. · .  $\frac{d^2y}{dx^2} + \frac{dy}{dx} = \ln y$ order = 2, degree = 1· .  $\frac{d^2 y}{dx^2} + \frac{dy}{dx} = \sin^{-1} y$ order = 2, degree = 1· .

• •

(ii)

equation can not be expressed as a polynomial in diffe

 $e^{\frac{d^3y}{dx^3}} - x \frac{d^2y}{dx^2} + y = 0$ ential coefficients, so degree is not applicable but order is 3.

Find order and degree of the following differential equations.

= *ℓ*n

(i) 
$$\frac{dy}{dx} + y = \frac{1}{\frac{dy}{dx}}$$

dx dx<sup>3</sup>

order = 1, degree = 2Ans.

order = 5, degree = not applicable. Ans.

(ii) 
$$\left[\left(\frac{dy}{dx}\right)^{1/2} + y\right]^2 = \frac{dx}{dx^2}$$
 Ans. order = 2, degree = 2  
**Formation of Differential Equation:**  
Differential equation corresponding to a family of curve will have:  
(a) Order exactly same as number of essential arbitrary constants in the equation of curve.  
(b) no arbitrary constant present in it.  
The differential equation corresponding to a family of curve can be obtained by using the following "  
(c) The relative constant present in a differential equation or division, then we can club differential equation corresponding to a family of curve can be obtained by using the following "  
(c) Differential equation corresponding to a family of curve and additional equation obtained in step the differential equation of tarve till the required order.  
(c) Differentiate the equation of tarve till the required order.  
(c) Differentiate the equation of tarve till the required order.  
(c) Differentiate the equation of tarve till the required order.  
(c) Differentiate the equation of tarve till the required order.  
(c) Differentiate the equation of tarve till the required order.  
(c) Differentiate the equation of tarve till the required order.  
(c) Differentiate the equation of tarve till the required order.  
(c) Differentiate the equation of tarve till the required order.  
(c) Differentiate equation of family of straight lines passing through origin.  
Sol. Family of straight lines passing through axis at the origin is  $y = mx$  where  $m$  is parameter.  
Differentiate equation of family of circles touching x-axis at the origin is  $x^2 + y^2 + x^2 +$ 

A differential equation of first order and first degree is of the type

$$\label{eq:main_state} \begin{split} &\frac{dy}{dx} + f(x,y) = 0, \mbox{ which can also be written as :} \\ &Mdx + Ndy = 0, \mbox{ where } M \mbox{ and } N \mbox{ are functions of } x \mbox{ and } y. \\ &Successful \mbox{ People Replace the words like; "wish", "try" & "should" with "I Will". Ineffective People don't. \end{split}$$



Get Solution of These Packages & Learn by Video Tutorials on www.MathsBySuhag.com 6. Elementary Types of First Order and First Degree Differential Equations : FREE Download Study Package from website: www.TekoClasses.com & www.MathsBySuhag.com solution: solution: i endemailie: i endemai **Variables separable :** If the differential equation can be put in the form,  $f(x) dx = \phi(y) dy w$ е say that variables are separable and solution can be obtained by integrating each side separately. A general solution of this will be  $\int f(x) dx = \int \phi(y) dy + c$ , where c is an arbitrary constant Solve the differential equation (1 + x) y dx = (y - 1) x dyThe equation can be written as dx =  $dx = \int$  $\ell n x + x = y - \ell n y + c$ lny + lnx = y - x + c $xy = ce^{y-x}$ Solve :  $\frac{dy}{dx} = (e^x + 1) (1 + y^2)$ The equation can be written as- $-=(e^{x}+1)dx$  $1+y^2$ Integrating both sides,  $\tan^{-1} y = e^{x} + x + c$ . dy y² dy = a Solve dx dx The equation can be written as  $y - ay^2 = (x + a)$ dx dx d١ x + a y – ay dx dy y(1-ay)x + adx а dy 1 - ayx + a y Integrating both sides, ln (x + a) = ln y - ln (1 - ay) + ln cсу  $ln(x + a) = ln\left(\frac{1}{1-ay}\right)$ cy = (x + a) (1 - ay)where 'c' is an arbitrary constant. Sometimes transformation to the polar co-ordinates facilitates separation of variables. In this 6.1.1 connection it is convenient to remember the following differentials: If  $x = r \cos \theta$ ;  $y = r \sin \theta$  then, x dx + y dy = r dr (ii)  $dx^{2} + dy^{2} = dr^{2} + r^{2}d\theta^{2}$ (iii)  $x dy - y dx = r^2 d\theta$ If  $x = r \sec \theta \& y = r \tan \theta$  then x dx - y dy = r dr (ii)  $x dy - y dx = r^2 \sec \theta d\theta$ . Solve the differential equation xdx + ydy = x (xdy - ydx)Taking  $x = r \cos\theta$ ,  $y = r \sin\theta$  $x^2 + y^2 = r^2$ 2x dx + 2ydy = 2rdrxdx + ydy = rdr.....(i) y  $= tan\theta$ х dy d – y dθ dx  $_{-} = \sec^2 \theta$  .  $\mathbf{x}^{\overline{\mathbf{2}}}$ dx  $xdy - y dx = x^2 \sec^2 \theta \cdot d\theta$  $xdy - ydx = r^2 d\theta$ .....(ii) Using (i) & (ii) in the given differential equation then it becomes  $r dr = r \cos\theta$ .  $r^2 d\theta$ 

 $r dr = r \cos \theta$ .  $r^2 d\theta$ Successful People Replace the words like; "wish", "try" & "should" with "I Will". Ineffective People don't.

$$\begin{aligned} \frac{dt}{r^2} &= \cos 0 \ dt \\ -\frac{1}{r} &= \sin \theta + \lambda \\ -\frac{1}{\sqrt{x^2 + y^2}} &= \frac{y}{\sqrt{x^2 + y^2}} + \lambda \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{y+1}{\sqrt{x^2 + y^2}} &= c \quad \text{where } - \lambda^1 = c \\ \frac{dt}{\sqrt{x}} &= \frac{dt}{\sqrt{x}} &= \frac{dt}{\sqrt{x}} \\ \frac{dt}{\sqrt{x}} &=$$

Tar Self Practice Problems : No Self Practice Problems :  $x^2y \frac{dy}{dx} =$   $x^2y \frac{dy}{dx} =$ Solve the differenti  $\frac{xdx + ydy}{\sqrt{x^2 + y^2}}$ Solve the differenti  $\frac{xdx + ydy}{\sqrt{x^2 + y^2}}$ Solve :  $\frac{dy}{dx} = e^{x+}$ Solve :  $xy \frac{dy}{dx} =$ Solve :  $xy \frac{dy}{dx} =$ Solve :  $\frac{dy}{dx} = 1$ Solve :  $\frac{dy}{dx} = x \tan(y - \frac{dy}{dx})$ Solve :  $\frac{dy}{dx} = \frac{dy}{dx}$ Solve :  $\frac{d$  $\tan\left(\frac{\pi}{4} - \frac{x+y}{2}\right) + x + c = 0$ Solve the differential equation  $x^2y \frac{dy}{dx} = (x + 1)(y + 1)$ **Ans.**  $y \ln (y + 1) = \ln x - \frac{1}{x} + c$ Solve the differential equation  $\frac{xdx + ydy}{\sqrt{x^2 + y^2}} = \frac{ydx - xdy}{x^2}$  $\sqrt{x^2 + y^2} + \frac{y}{x} = c$ Ans. **Ans.**  $-\frac{1}{e^y} = e^x + \frac{x^3}{3} + c$ Solve:  $\frac{dy}{dx} = e^{x+y} + x^2 e^y$ Solve : xy  $\frac{dy}{dx} = 1 + x + y + xy$ y = x + ln |x (1 + y)| + cAns. Solve  $\frac{dy}{dx} = 1 + e^{x-y}$ Ans.  $e^{y-x} = x + c$  $\frac{dy}{dx} = \sin(x + y) + \cos(x + y)$  $\log \left| \tan \frac{x+y}{2} + 1 \right| = x + c$ Ans.  $\frac{\mathrm{d}y}{\mathrm{d}x} = x \tan(y - x) + 1$  $\sin(y-x) = e^{x+c}$ Ans. Homogeneous Differential Equations : A differential equation of the from  $\frac{dy}{dx} = \frac{f(x,y)}{g(x,y)}$ where f and g are homogeneous function o x and y, and of the same degree, is called homogeneous differential equaiton and can be solved easily by putting y = vx. REE Download Study Package from website: Solve  $2\frac{y}{x} + \left(\left(\frac{y}{x}\right)^{z} - 1\right)$ dy Putting y = v $\frac{dy}{dx} = v + x \frac{dv}{dx}$  $2v + (v^2 - 1)\left(v + x\frac{dv}{dx}\right) = 0$  $v + x \frac{dv}{dx} = -\frac{2v}{v^2}$  $x \frac{dv}{dx} = \frac{-v(1+v^2)}{v^2 - 1}$  $\int \frac{v^2 - 1}{v(1 + v^2)} dv = -\int \frac{dx}{x}$  $\int \left(\frac{2v}{1+v^2} - \frac{1}{v}\right) dv = -\ell n x + c$   $\ell n (1 + v^2) - \ell n v = -\ell n x + c$  $\ln \left| \frac{1+v^2}{v} \cdot x \right| = c$  $\ln \left| \frac{x^2 + y^2}{y} \right| = c$  $x^2 + v^2 = vc'$  where c' = e'Solve:  $(x^2 - y^2) dx + 2xydy = 0$  given that y = 1 when x = 1Example :  $\frac{\mathrm{dy}}{\mathrm{dx}} = -\frac{\mathrm{x}^2 - \mathrm{y}^2}{2\mathrm{x}\mathrm{v}}$ Solution.

<page-header><equation-block><equation-block>Fundamental Particular Series (Construction of the series of the FREE Download Study Package from website: www.TekoClasses.com & www.MathsBySuhag.com of me optime op 6.2.1  $\frac{(Y+Y)}{(X-Y)^3} \frac{X^2}{X^2} = e^{2c}$  $X+Y = c'(X-Y)^3 \quad \text{where } e^{2c} = c^1$  $x-1+y-2 = c'(-1-y+2)^3$  $x+y-3 = c'(x-y+1)^3$ Special case :

In equation (1) if aB = Ab, then the substitution ax + by = v will reduce it to the form in which (A) variables are separable.

 $\frac{\mathrm{d}y}{\mathrm{d}x} = \frac{2x+3y-1}{4x+6y-5}$ Solve Putting u = 2x + 3y $\frac{du}{dx} = 2 + 3 \cdot \frac{dy}{dx}$  $\frac{1}{3}\left(\frac{du}{dx}-2\right) = \frac{u-1}{2u-5}$  $\frac{du}{dx} = \frac{3u - 3 + 4u - 10}{2u - 5}$  $\int \frac{2u-5}{7u-13} dx = \int dx$  $\frac{2}{7}\int 1.du = \frac{9}{7}\int \frac{1}{7u-13} du = x + c$  $\frac{2}{7}u - \frac{9}{7} \cdot \frac{1}{7} \ln (7u - 13) = x + c$  $\Rightarrow$  $4x + 6y - \frac{9}{7} \ln (14x + 21y - 13) = 7x + 7c$  $\Rightarrow -3x + 6y - \frac{9}{7} \ell n (14x + 21y - 13) = c'$ In equation (1), if b + A = 0, then by a simple cross multiplication equation (1) becomes an **exact differential equation**.  $\frac{\mathrm{d}y}{\mathrm{d}x} = \frac{x-2y+5}{2x+y-1}$ Solve Cross multiplying, 2xdy + y dy - dy = xdx - 2ydx + 5dx2 (xdy + y dx) + ydy - dy = xdx + 5 dx 2 d(xy) + y dy - dy = xdx + 5dx M On integral On integral 2x  $\Rightarrow x^2$ (C) If the homo yf(xy) dx + Self Practice Problems : Solve the followin Solve the followin Physical Self Practice Problems : Solve the followin Solve the followin Physical Self Practice Problems : Solve the followin On integrating,  $2xy + \frac{y^2}{2} - y = \frac{x^2}{2} + 5x + c$  $4xy - y^2 + 10x + 2y = c'$ where  $\mathbf{C}'$ – 2c If the homogeneous equation is of the form yf(xy) dx + xg(xy)dy = 0, the variables can be separated by the substitution xy = v. Solve the following differential equations  $\left(x\frac{dy}{dx}-y\right)$  tan<sup>-1</sup>  $\frac{y}{x} = x$  given that y = 0 at x = 1 $\sqrt{x^2 + y^2} = \frac{y}{e^x} \tan^{-1} \frac{y}{x}$ Ans.  $x \frac{dy}{dx} = y - x \tan \frac{y}{x}$  $x \sin \frac{y}{x} = C$ Ans. Ans.  $x + y = c (x - y + 6)^{3}$  $3(2y - x) + \log (3x + 7y + 4) = C$ Ans.  $3x^2 + 4xy - 3y^2 - 10x - 10y = C$ Ans. **Exact Differential Equation :** The differential equation M + N  $\frac{dy}{dx} = 0$ .....(1) Where M and N are functions of x and y is said to be exact if it can be derived by direct differentiation (without any subsequent multiplication, elimination etc.) of an equation of the form f(x, y) = c $y^2 dy + x dx + \frac{dx}{x} = 0$  is an exact differential equation. e.g.

# Get Solution of These Packages & Learn by Video Tutorials on www.MathsBySuhag.com The necessary condition for (1) to be exact is $\frac{\partial M}{\partial y} = \frac{\partial N}{\partial x}$ NOTE: (i) FREE Download Study Package from website: www.TekoClasses.com & www.MathsBySuhag.com (i) (i) (ii) (ii) (ii) (ii) (iii) (iii)( For finding the solution of Exact differential equation, following exact differentials must be remembered: (b) $\frac{xdy - ydx}{x^2} = d\left(\frac{y}{x}\right)$ (c) $2(x \, dx + y \, dy) = d(x^2 + y^2)$ (a) xdy + y dx = d(xy)(d) $\frac{xdy - ydx}{xy} = d\left(\ln\frac{y}{x}\right)$ (e) $\frac{xdy - ydx}{x^2 + y^2} = d\left(\tan^{-1}\frac{y}{x}\right)$ (f) $\frac{xdy + ydx}{xy} = d(\ln xy)$ $(g)\frac{xdy+ydx}{x^2y^2} = d\left(-\frac{1}{xy}\right)$ Solve : y dx + x dy = $\frac{xdy - ydx}{x^2 + y^2}$ $ydx + xdy = \frac{xdy - ydx}{x^2 + y^2}$ d (xy) = d (tan<sup>-1</sup> y/x) Integrating both sides $xy = tan^{-1}y/x + c$ Solve : (2x $\ell$ ny) dx + $\left(\frac{x^2}{y} + 3y^2\right)$ dy = 0 The given equation can be written as dy v $+ 3y^2 dy = 0$ $lny (2x) dx + x^2$ $\begin{array}{l} \Rightarrow \quad \ell ny \ d \ (x^2) + x^2 \ d \ (\ell ny) + d \ (y^3) = 0 \\ \Rightarrow \quad d \ (x^2 \ \ell ny) + d \ (y^3) = 0 \\ \text{Now integrating each term, we get} \end{array}$ $x^{2} lny + y^{3} = c$ Self Practice Problems : Solve: $xdy + ydx + xy e^{y} dy = 0$ Ans ℓn (xy ) + e<sup>y</sup> = c Solve: $ye^{-x/y} dx - (xe^{-x/y} + y^3) dy = 0$ Ans $2e^{-x/y} + y^2 = c$ Linear Differential Equation When the dependent variable and its derivative occur in the first degree only and are not multiplied together the differential equation is called linear The m<sup>th</sup> order linear differential equation is of the form. $P_{0}(x)\frac{d^{m}y}{dx^{m}} + P_{1}(x)\frac{d^{m-1}y}{dx^{m-1}} + \dots + P_{m-1}(x)\frac{dy}{dx} + P_{m}(x)y = \phi(x),$ where $P_{0}(x), P_{1}(x)$ ..... $P_{m}(x)$ are called the coefficients of the differential equation.

+ y<sup>2</sup> sinx = lnx is not a Linear differential equation.

### Linear differential equations of first order :

The differential equation  $\frac{dy}{dx} + Py = Q$ , is linear in y.

where P and Q are functions of x.

Integrating Factor (I.F.) : - It is an expression which when multiplied to a differential equation converts it into an exact form.

I.F for linear differential equation =  $e^{\beta Pdx}$  (constant of integration will not be considered) : after multiplying above equation by I.F it becomes:

$$\frac{dy}{dx} \cdot e^{\int Pdx} + Py \cdot e^{\int Pdx} = Q \cdot e^{\int Pdx}$$
$$\frac{d}{dx} (y \cdot e^{\int Pdx}) = Q \cdot e^{\int Pdx}$$

$$v e^{\int Pdx} = \int Q e^{\int Pdx} + C$$

**NOTE**: Some times differential equation becomes linear if x is taken as the dependent variable and y as independent variable. The differential equation has then the following form :

 $\frac{dx}{dy}$  $+ P_1 x = Q_1$ . FREE Download Study Package from website: www.TekoClasses.com & www.MathsBySuhag.com same set on the set of t where  $P_1$  and  $Q_1$  are functions of y. The I.F. now is  $e^{\int P_1 dy}$ Solve  $\frac{dy}{dx} + \frac{3x^2}{1+x^3} y = \frac{\sin^2 x}{1+x^3}$  $\frac{dy}{dx} + Py = Q$  $\mathsf{P} = \frac{3\mathsf{x}^2}{1+\mathsf{x}^3}$ IF =  $e^{\int P.dx} = e^{\int \frac{3x^2}{1+x^3}dx} = e^{\ln(1+x^3)} = 1 + x^3$ ÷. General solution is  $y(IF) = \int Q(IF).dx + c$  $y(1 + x^3) = \int \frac{\sin^2 x}{1 + x^3} (1 + x^3) dx + c$  $y(1 + x^3) = \int \frac{1 - \cos 2x}{2} dx + c$  $y(1 + x^3) = \frac{1}{2}x - \frac{\sin 2x}{4} + c$ Solve : x  $lnx \frac{dy}{dx} + y = 2 ln x$ dy dx  $+ \frac{1}{x \ln x} y = \frac{2}{x}$  $P = \frac{1}{x\ell nx}, Q = \frac{2}{x}$ IF =  $e^{\int P.dx} = e^{\int \frac{1}{x \ln x} dx} = e^{\ln(\ln x)} = \ln x$ ∴ General solution is y.  $(\ell n x) = \int \frac{2}{x} . \ell n x. dx + c$ y  $(\ell n x) = (\ell n x)^2 + c$ Solve the differential equation t  $(1 + t^2) dx = (x + xt^2 - t^2) dt$  and it given that  $x = -\pi/4$  at t = 1t  $(1 + t^2) dx = [x (1 + t^2) - t^2] dt$  $\frac{\mathrm{dx}}{\mathrm{dt}} = \frac{\mathrm{x}}{\mathrm{t}} - \frac{\mathrm{t}}{(\mathrm{1} + \mathrm{t}^2)}$  $\frac{\mathrm{dx}}{\mathrm{dt}} - \frac{\mathrm{x}}{\mathrm{t}} = -\frac{\mathrm{t}}{\mathrm{1} + \mathrm{t}^2}$ which is linear in  $\frac{dx}{dt}$ Here,  $P = -\frac{1}{t}$ ,  $Q = -\frac{t}{1+t^2}$  $\mathsf{IF} = \mathbf{e}^{-\int \frac{1}{t} dt} = \mathbf{e}^{-\ell n t} = \frac{1}{t}$ General solution is  $x - \frac{1}{t} = \int \frac{1}{t} \cdot \left( -\frac{t}{1+t^2} \right) dt + c$  $\frac{x}{t} = -\tan^{-1}t + c$ putting  $x = -\pi/4$ , t = 1 $-\pi/4 = -\pi/4 + c \implies x = -t \tan^{-1} t$ c = 0÷.

# Get Solution of These Packages & Learn by Video Tutorials on www.MathsBySuhag.com Equations reducible to linear form

6.4.1 By change of variable. **WOTE Solution. Solution. Solution. Solution. Solution. Solution. Substitution Substitut** Solve :  $y \sin x \frac{dy}{dx} = \cos x (\sin x - y^2)$ The given differential equation can be reduced to linear form by change of variable by a suitable subtitution. Substituting y<sup>2</sup> = z  $2y \frac{dy}{dx} = \frac{dz}{dx}$ differential equation becomes  $\frac{\sin x}{2} \frac{dz}{dx} + \cos x \cdot z = \sin x \cos x$  $\frac{dz}{dx}$  + 2 cot x . z = 2 cos x which is linear in  $\frac{dz}{dx}$  $\mathsf{IF} = \mathsf{e}^{\int 2\cot x \, dx} = \mathsf{e}^{2\ln \sin x} = \sin^2 x$ ... General solution is z.  $\sin^2 x = \int 2\cos x \cdot \sin^2 x \cdot dx + c$  $y^2 \sin^2 x = \frac{2}{3} \sin^3 x + c$ Bernoulli's equation : Equations of the form  $\frac{dy}{dx}$  + Py = Q.y<sup>n</sup>, n ≠ 0 and n ≠ 1 where P and Q are functions of x, is called Bernoulli's equation and can be made linear in v by dividing by  $y^n$  and putting  $y^{-n+1} = v$ . Now its solution can be obtained as in (v). e.g.:  $2 \sin x \frac{dy}{dx} - y \cos x = xy^3 e^x$ Solve:  $\frac{dy}{dx} - \frac{y}{x} = \frac{y^2}{x^2}$ (Bernoulli's equation) Dividing both sides by y<sup>2</sup>  $\frac{1}{y^2}\frac{dy}{dx} - \frac{1}{xy} = \frac{1}{x^2}$ ..... (1) Putting  $\frac{1}{v} = t$  $-\frac{1}{y^2}\frac{dy}{dx} = \frac{dt}{dx}$ differential equation (1) becomes  $-\frac{dt}{dx}-\frac{t}{x}=\frac{1}{x^2}$  $\frac{dt}{dx} + \frac{t}{x} = -\frac{1}{x^2}$  which is linear differential equation in  $\frac{dt}{dx}$  $\mathsf{IF} = \mathbf{e}^{\int \frac{1}{x} dx} = \mathbf{e}^{\ln x} = \mathbf{x} \qquad \therefore$ General solution is t. x =  $\int -\frac{1}{x^2} \cdot x \, dx + c$ tx =  $-\ell nx + c$  $\frac{x}{y} = - \ell nx + c$ Solve : x (x<sup>2</sup> + 1)  $\frac{dy}{dx} = y (1 - x^2) + x^2 \ln x$  Ans.  $\left(\frac{x^2 + 1}{x}\right) y = x \ln x - x + c$ Solve :  $(x + 2y^3) \frac{dy}{dx} = y$ Ans.  $x = y (c + y^2)$ Solve :  $x \frac{dy}{dx} + y = y^2 \log x$ Ans. y (1 + cx + log x) = 1Solve the differential equation 4.  $xy^2\left(\frac{dy}{dx}\right) - 2y^3 = 2x^3$  given y = 1 at x = 1 $y^3 + 2x^3 = 3x^6$ Ans.

# Get Solution of These Packages & Learn by Video Tutorials on www.MathsBySuhag.com **7.** Clairaut's Equation :



### Steps to find orthogonal trajectory :

- (i) Let f(x, y, c) = 0 be the equation of the given family of curves, where 'c' is an arbitrary constant.
- (ii) Differentate the given equation w.r.t. x and then eliminate c.

Get Solution of These Packages & Learn by Video Tutorials ( (ii) Replace  $\frac{dy}{dx}$  by  $-\frac{dx}{dy}$  in the equation obtained in (ii). (iv) Solve the differential equation obtained in (iii). Hence solution obtained in (iv) is the required orthogonal trajectory. Solution: Find the orthogonal trajectory of family of straight lines pass Family of straight lines passing through the origin is  $y = nx \dots$  (ii) where 'm is an arbitrary constant. Differentiating wit x  $\frac{dy}{dx} = n \dots$  (iii) Eliminate 'm from (i) & (iii)  $y = \frac{dy}{dx} \times$ Replacing  $\frac{dy}{dx}$  by  $-\frac{dx}{dy}$ , we get  $y = \frac{-dx}{2} + \frac{y^2}{2} = c$   $\Rightarrow x + y + y dy = 0$ Integrating each term,  $\frac{x^2 + y^2}{2} + \frac{y^2}{2} = c$   $\Rightarrow x + y = 2c$ which is the required orthogonal trajectory. Which is the required orthogonal trajectory.  $2y \frac{dy}{dx} = 4a \dots$  (ii) Eliminating 'a from (i) & (ii)  $y^2 = 2y \frac{dy}{dx} \times$ Replacing  $\frac{dy}{dx}$  by  $-\frac{dx}{dy}$ , we get  $y = 2(-\frac{dx}{dy}) \times$   $2x^2 + y^2 = 2c$ which is the required orthogonal trajectory. Example : Find the orthogonal trajectory of  $y^2 = 4ax$  (a being the param  $y^2 = 4ax$  (a being the param  $y^2 = 4ax$  (a being the param  $y^2 = 4ax$  (b) we get  $y = 2(-\frac{dx}{dy}) \times$  2x dx + y dy = 0Integrating each term,  $x^2 + \frac{y^2}{2} = c$   $2x^2 + y^2 = 2c$ which is the required orthogonal trajectories. Self Practice Problems : 1. Find the orthogonal trajectory of family of circles concentric at (a, 0) Ans. y = c (x - a) where c is an arbitrary constant. 2. Find the orthogonal trajectory of family of circles concentric at (a, 0) Ans. y = c (x - a) where c is an arbitrary constant. 3. Find the orthogonal trajectory of the family of circles touching  $x - axis at Ans. x^2 + y^2 = c$  where c is an arbitrary constant. 3. Find the orthogonal trajectory of the family of circles touching  $x - axis at Ans. x^2 + y^2 = k$  where k is an arbitrary constant. 3. Find the orthogonal trajectory of the family of circles touching  $x - axis at Ans. x^2 - y^2 = k$  where k is an arbitrary con Find the orthogonal trajectory of family of straight lines passing through the origin. Find the orthogonal trajectory of  $y^2 = 4ax$  (a being the parameter). Find the orthogonal trajectory of family of circles touching x – axis at the origin. Find the orthogonal trajectory of the family of rectangular hyperbola  $xy = c^2$ Ш<sub>Example</sub>: Find the curves for which the portion of the tangent included between the co-ordinate axes is bisected at the point of contact. C Solution. Let P(x, y) be any point on the curve. Equation of tangent at P (x, y) is -



